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RRB NTPC Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (b) ò¢)ëÅ!¢kþyhsþó @ùÌöìsþiîû öœ…„þ £öìœ˜ îîûy£!›!£îûÐ =®¢ÁËyÝþ
!m“þ#ëû ‰þw=öì®îû ”îûîyöìîû ˜îîûböì”îû ›öì•Ä ~„þ‹˜ !Šéöìœ˜
!“þ!˜Ð “¤þyîû öœ…y x˜Ä @ùÌsþ i=!œ £œ î,£ê ¢‚!£“þy–
þ™Mþé!¢kþy!hsþ„þyÐ

2. (b) ›˜¢î”y!îû ²Ìíy ²Ì‰þœ˜ „þöìîû̃  xy„þîîûÐ !“þ!˜ !Šéöìœ˜ ö›y‡œ
¢yÁËyöì‹Äîû ö×Ûþ ¢ÁËyÝþÐ !“þ!˜ ”y¢c– ¢“þ#²Ìíy ç !‹!‹ëûy
„þîû îõþ „þöìîû ö”˜Ð “¤þyîû îûy‹¢¦þyëû ò˜îîûbó !îîûy‹ „þîû“þÐ

3. (a) îûyÜTÉþ™!“þ ¢%!²Ì› ö„þyöìÝÅþîû ²Ì•y˜ !î‰þyîûþ™!“þöì”îû ¢yöìí þ™îûy›ŸÅ
„þöìîû £y£zöì„þyöìÝÅþîû !î‰þyîûþ™!“þöì”îû ßþiy˜yhsþ!îû“þ „þîûöì“þ þ™yöìîû̃ Ð
¢%!²Ì› ö„þyöìÝÅþîû ¢›hßþ !î‰þyîûþ™!“þ îûyÜTÉþ™!“þ myîûy !˜ë%_« £˜Ð
²Ì•y˜›sþf#îû ›“þy›“þ !˜öìëû îûyÜTÉþ™!“þ ¢%!²Ì› ö„þyöìÝÅþîû ²Ì•y˜
!î‰þyîûþ™!“þöì„þ !˜ë%_« „þöìîû̃ Ð

4. (d) FSH Çþ!îû“þ £ëû !þ™Ý%þÄ£zÝþy!îû öíöì„þÐ FSH ~îû þ™%öìîûy „þíy
šþ!œ„þœ !ÞÝþ›%öìœ!Ýþ‚ £îûöì›y˜Ð ~!Ýþ x@ùÌ !þ™Ý%þÄ£zÝþy!îû öœyöìîîû
ö†y˜yöìvþyÝþÆ!þ™„þ öíöì„þ öî!îûöìëû ²Ì‹˜öì̃  ¢y£yëÄ „þöìîûÐ

5. (d) ¢Á±!“þ Central Electronics Ltd. ˜îîûb ¢‚ßþiyîû “þ„þ›y
öþ™öìëûöìŠéÐ ˜îîûb ¢‚ßþiyîû “þy!œ„þy¦%þ_« ¢‚ßþiy=!œ £œéôôôé
(1) Bharat Electronics Ltd. (2) Engineers India
Ltd. (3) National Aluminium Company Ltd.
(4) National Fertilizers Ltd. (5) Central
Warehousing Corporation (6) SJVN Limited.

6. (b) öœy„þ¢¦þyîû ßþ™#„þyîûöì„þ þ™”‰%þÄ“þ „þîûöì“þ £öìœ 14 !”˜ xyöì†
ö˜y!ÝþŸ !”öì“þ £ëûÐ vþzöìÍÔ…Ä– ßþ™#„þyîû £öìœ˜ ¦þyîû“þ#ëû ¢‚¢öì”îû
!˜Á¬„þöìÇþîû ¢¦þy þ™!îû‰þyœ„þ îy !²Ì¢y£z!vþ‚ x!šþ¢yîûÐ

7. (b) ¢y“þîy£˜ ¢yÁËy‹Ä †öìvþü vþzöìàþ!Šéœ ”y!Çþ’yöì“þÄîû xõÉþ xMþéöìœÐ
~£z ¢yÁËyöì‹Äîû ²Ì!“þÛþy“þy £öìœ˜ !¢›%„þÐ ~!Ýþ !Šéœ ›y“,þ“þy!sþf„þ
¢yÁËyöì‹Äîû vþz”y£îû’Ð

8. (b) “þy®# ˜”# ›£yöì”î þ™îÅ“þ öíöì„þ vþzêþ™§¬ £öìëûöìŠéÐ ~îû ÷”‡ÅÄ
²Ìyëû 724 !„þ!›Ð ~£z ˜”#!Ýþ …yÁºy“þ vþzþ™¢y†öìîû þ™öìvþüöìŠéÐ
›•Ä²Ìöì”Ÿ– ›£yîûyÜTÉ ç =‹îûyÝþ îûyöì‹Äîû ›•Ä !”öìëû ²Ìîy!£“þÐ
öî“%þœ– !Ÿ²Ìy– þ™)̃ Åy ~îû vþzþ™˜”#¢›)£Ð

9. (a) ¦þyîûöì“þîû ›•Ä²Ìöì”Ÿ îûyöì‹Ä ¢îöì‰þöìëû öî!Ÿ ˜ÄyŸ˜yœ þ™y„Åþ
îûöìëûöìŠéÐ

10. (d) ¢Á±!“þ ˜Äy¢„þöì›îû ö‰þëûyîûþ™y¢Å̃  !£öì¢öìî !˜ë%_« £öìœ˜ !¢õ%þ
†Dy•îûÐ NASSCOM ~îû þ™%öìîûy ˜y› £œ National
Association of Software and Service CompaniesÐ
~£z ö„þyÁ™y!˜ 1988 ¢yöìœ ßþiy!þ™“þ £öìëû!ŠéœÐ

11. (b) ¢öìîûy!‹˜# ˜y£zv%þ !Šéöìœ˜ ßþº̃ y›•˜Ä ¦þyîû“þ#ëû ßþºy•#˜“þy ¢‚@ùÌy›#
!î!ŸÜT îy@Â# ç £zöì̈ yéôéxÄy‚öìœy „þ!îÐ !“þ!˜ ¦þyîû“þ#ëû ö„þy!„þœ
S”Ä ˜y£z!ÝþöìDœ xšþ £z!uþëûyV ˜yöì› þ™!îû!‰þ“þÐ

12. (b) 29 ç 30 ˜Áºîû •yîûy
13. (d) e%«þ™¢ xÄyuþ övþ›y† ö„þyÁ™y!˜!Ýþîû ¢£öìëy!†“þyëû †öìvþü çàþy

ç!vþŸyîû öîûïîûöì„þÍÔy !ÞÝþœ ²ÕÄyrÝþ ¦þyîûöì“þîû þ™yî!œ„þ ö¢Qöìîûîû
²Ìí› £z!rÝþöì@ùÌöìÝþvþ !ÞÝþœ ²ÕÄyrÝþÐ

14. (a) ²Ìöì“þÄ„þ îûy‹Ä ¢îû„þyîû ç îûyöì‹Äîû xhsþ†Å“þ ßþiy˜#ëû „þ“,Åþþ™Çþöì„þ
¦þy¡ìy†“þ ¢‚…Äyœ‡% ¢Á±”yëû¦%þ_« !ŸÖöì”îû ‹˜Ä ›y“,þ¦þy¡ìyîû
›y•Äöì› ²Ìyí!›„þ !ŸÇþyîû îÄîßþiy „þîûöì“þ £öìî 350 S„þV •yîûyëûÐ

15. (d) ¢Á±!“þ ¦þyîû“þ þ™Äyîûy x!œ!Á™„þ ö†›öì¢ 29!Ýþ ö›öìvþœ
‹ëûœy¦þ „þöìîûöìŠéÐ 2024 ¢yöìœîû þ™Äyîûy x!œ!Á™„þ ö†›ì¢
þ™Äy!îûöì¢ xyöìëûy!‹“þ £öìëû!ŠéœÐ ~£z ö†›öì¢îû ö›yöìÝþy £œéôô
‘Games Wide Open’Ð

16. (c) ›•Äßþºcöì¦þy†#öì”îû !îöìœyþ™ ¢y•˜ 1948 ¢yöìœ– þ™îûî“Åþ#öì“þ
þ™!Øþ›îD ¦)þéôé¢Á™!_ @ùÌ£’ xy£z̃  1953 ¢yöìœ ²Ì’#“þ £ëû
~î‚ 1978 ¢yöìœ xþ™yöìîûŸ˜ î†Åy ˜y›„þ xy£z˜¢Á¿“þ
„þ›Å¢)!‰þ!Ýþ †,£#“þ £ëûÐ

17. (a) £îû̄ y ¢¦þÄ“þyëû “þy›y !˜!›Å“þ xyëû̃ y– ö…œ˜y îûí– “þy›yîû
îûöìíîû ¢õþy˜ !›öìœöìŠéÐ

18. (d) ¦þy£z¢›Äy˜
19. (b) ~£z „þ›Å¢)!‰þ Öîû& £ëû 1961 ¢yöìœ– ëyîû ²Ì•y˜ vþzöìjŸÄ !Šéœ

}’– îûy¢yëû!˜„þ ¢yîû– î#‹ ç „,þ!¡ì ësþfþ™y!“þîû ›“þ˜ x!“þ
²Ìöìëûy‹˜#ëû vþzþ™„þîû’=!œîû ¢îûîîûy£Ð

20. (d) ¢Á±!“þ 2024 ¢yöìœîû £zvþz~¢ çöìþ™˜ öÝþ!˜¢ ²Ì!“þöìëy!†“þyëû
þ™%îû&¡ìöì”îû !¢Dœöì¢ ‰þÄy!Á™ëû̃  £öìœ˜é ‹y!§¬„þ !¢§¬yîûÐ

21. (b) ¦þyîûöì“þ ²Ìí› ‹˜†’˜y Öîû& £ëû 1867 ¢yöìœÐ þ™¤y‰þ îŠéîû
•öìîû ‰þöìœ (1867-1871)Ð ~!Ýþ 1872 ¢yöìœîû ‹˜†’˜y
˜yöì› þ™!îû!‰þ“þÐ

22. (a) ¢‚!î•yöì̃ îû 23 ˜‚ •yîûyëû îœy £öìëûöìŠé îœ²Ìöìëûyöì†îû myîûy
þ™!îû×› „þîûyöì̃ y îy öî†yîû …yÝþyöì̃ y !˜!¡ìkþÐ ¢‚!î•yöì̃ îû
24 ˜‚ •yîûyëû îœy £öìëûöìŠé 14 îŠéöìîûîû „þ› îëûßþñ !ŸÖöì”îû
„þyîû…y˜y– …!˜ £z“þÄy!” ö„þyöì̃ y !îþ™I˜„þ „þyöì‹ !˜ë%_« „þîûy
ëyöìî ˜yÐ

23. (a) ›y˜îöì”öì£îû ˜y£zöìÝþÆyöì‹˜!î£#˜ î‹ÅÄ þ™”yíÅ !„þöìÝþy˜ î!vþ–
„þyîÅ̃  vþy£zx:y£zvþÐ ~Šéyvþüy £zvþz!îûëûy– £zvþz!îû„þ xÄy!¢vþ–
˜y£zöìÝþÆyöì‹˜ë%_« öîû‰þ˜ þ™”yíÅÐ

24. (b) ¢y£zöìÝþy²Õy‹öì› îý¢‚…Ä„þ ¢‹#î îlßþ íyöì„þ– “þy £œ !œ!þ™vþÐ
!œ!þ™vþ „þyîÅ̃ – £y£zöìvÈþyöì‹˜ ç x!:öì‹˜ !”öìëû ÷“þ!îûÐ x˜%þ™y“þ
1 ­ 2 ­ 1Ð vþz!q”öì”öì£ !îöìŸ¡ì „þöìîû šþœ ç î#öì‹ x!•„þ
þ™!îû›y’ !œ!þ™vþ ¢!Mþé“þ íyöì„þÐ

25. (c) ¢Á±!“þ x!œ!Á™„þ „þyvþz!ªœ xšþ ~!Ÿëûyîû ö²Ì!¢öìvþrÝþ !£öì¢öìî
!˜ë%_« £öìœ˜ îûy‹y îû’î#îû !¢‚Ð ~£z þ™öì” !˜ë%_« £çëûyîûxÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 10  öšþîÊ&ëûy!îû– 20252

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

þ™)öìîÅ !“þ!˜ ~£z ¢‚ßþiyîû ¦þyîû²Ìy® ö²Ì!¢öìvþrÝþ !Šéöìœ˜Ð !“þ!˜
1979 ¢yöìœ x‹Å%̃  þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìëû!Šéöìœ˜Ð

26. (a) ¢îÅ¦þyîû“þ#ëû „,þ“þÄ„þ xy£z̃  1951 !…ÊÞÝþyöì· xœ £z!uþëûy ¢y!¦Åþ¢
²Ì!“þÛþy „þöìîûöìŠéÐ £zvþz!˜ëû̃  ç îûy‹Ä=!œîû ‹˜Ä ¢y•yîû’¦þyöìî
!˜!…œ ¦þyîû“þ þ™!îûöì¡ìîy=!œöì“þ !˜öìëûy† ~î‚ !˜öìëûy†²Ìy®
îÄ!_«öì”îû þ™!îûöì¡ìîyîû Ÿ“Åþy!” !˜ëûsþföì’îû ‹˜Ä ~„þ!Ýþ xy£z̃ Ð

27. (c) öŸîûŸyöì£îû ²Ì„,þ“þ ˜y› šþ!îû” …¤yÐ !“þ!˜ 1540-1555 ¢yœ
þ™ëÅhsþ îûy‹c „þöìîû̃ Ð !“þ!˜ !m“þ#ëû xyšþ†y˜ Ÿy¢˜ (1540)
Öîû& „þöìîû̃ Ð „þî%!œëûyê ç þ™yRy ²Ìíyîû ²Ìî“Åþ˜ „þöìîû̃ Ð !“þ!˜
@ùÌÄyuþ ÝþÆÄyBþ öîûyvþ xíÅyê ¢vþü„þéôé£zéôéxy‹y› !˜›Åy’ „þöìîû̃ Ð

28. (c) xyöì›”yîy” !›öìœîû „þyþ™vþü „þöìœîû „þ›Å‰þyîû#öì”îû ßþºyöìíÅ †y!õþ‹#
²Ìí› Fast Unto Death îy xy›îû’ x˜Ÿ˜ „þöìîû!Šéöìœ˜–
ëy xyöì›”yîy” !›œ •›Å‡Ýþ (1918) ˜yöì› þ™!îû!‰þ“þÐ

29. (d) îy•Ä“þy›)œ„þ þ™!îû„þÒ˜yÐ
ö„þw#ëû þ™!îû„þÒ˜y „þ“,Åþþ™Çþ ¢›yöì‹îû ¢öìîÅy_› ßþºyöìíÅ
xíÅ÷ì̃ !“þ„þ „þyëÅe«› ¢Á™y”˜ „þöìîûÐ ~!Ýþ ~„þ!Ýþ ¢›y‹“þy!sþf„þ
þ™!îû„þÒ˜yÐ “þy£z ~öì„þ xþ™!îû£yëÅ þ™!îû„þÒ˜yç îœy £ëûÐ
¢%“þîûy‚ xy›îûy ”%£z •îûöì̃ îû xíÅ÷ì̃ !“þ„þ þ™!îû„þÒ˜y þ™y£z ­
x“þÄyîŸÄ„þ#ëû þ™!îû„þÒ˜y ~î‚ ²Ìöìîûy‰þ˜y myîûy ¢)‰þ„þ þ™!îû„þÒ˜y
îy ²Ìöìîûy‰þ˜ þ™!îû„þÒ˜yÐ

30. (a) ¢Á±!“þ £zrÝþyîû̃ ÄyŸ˜yœ ö¢yœyîû xÄyœyöìëûöìªîû 101“þ› ¢”¢Ä
ö”Ÿ !£öì¢öìî xhsþ¦Å%þ_« £œ ö˜þ™yœÐ

31. (c) ö¦þ!ÞÝþ!îvþzœ öà¤þyÝþ ~î‚ ö‰þyëûyöìœîû ›•Äî“Åþ# ßþiy˜Ð
32. (d) îûyÜTÉþ™!“þ !“þ˜ ²Ì„þyîû ‹îû&!îû xîßþiy ö‡y¡ì’y „þîûöì“þ þ™yöìîû̃ Ð

(i) ‹y“þ#ëû ‹îû&!îû xîßþiy (ii) xDîûyöì‹Äîû Ÿy¢˜“þy!sþf„þ
x‰þœyîßþiy (iii) xy!íÅ„þ ‹îû&!îû xîßþiyÐ

33. (c) îûy‹Ä¢¦þy ö„þyöì̃ y xíÅ!îœöì„þ !îöìî‰þ˜yîû ‹˜Ä 14 !”˜ •öìîû
îûy…öì“þ þ™yöìîûÐ ¦þyîû“þ#ëû ¢‚!î•yöì˜îû 110 ˜‚ •yîûyöì“þ
xíÅ!îöìœîû ¢‚Kþy î!’Å“þ îûöìëûöìŠéÐ ~£z !îœ!Ýþ öœy„þ¢¦þyöì“þ
vþzayþ™˜ „þîûy £ëûÐ

34. (a) „þ!’Üñ
‰þ“%þíÅ öîïkþ ¢öìÁ¿œöì̃  S„þyÙÂ#öìîû ›“þyhsþöìîû ‹œõþöìîûV î¢%
!›öìeîû ¢¦þyþ™!“þöìc öîïkþîûy £#˜ëy˜ ç ›£yëy˜ ”%!Ýþ Ÿy…yëû
!î¦þ_« £öìëû ëyëûÐ

35. (d) ¢Á±!“þ 2024 ¢yöìœîû £zrÝþyîû̃ ÄyŸ˜yœ „þ˜šþyöìîûª x˜ !@ùÌ˜
£y£zöìvÈþyöì‹˜ xyöìëûy!‹“þ £œ ˜“%þ˜ !”!ÍÔöì“þÐ

36. (c) öîû!Qšþyöìëûvþ !ßþ™!îûÝþ £œ 95% £zíy£zœ xÄyœöì„þy£œ ~î‚
5% ‹öìœîû !›×’Ð ~îû îûy¢yëû!˜„þ ¢‚öì„þ“þ C2H5OH.

37. (a) ö„þyöì̃ y ö›yÝþöìîû “þ!vþüêŸ!_« ëy!sþf„þ Ÿ!_«öì“þ îû*þ™yhsþ!îû“þ £ëûÐ
38. (a) Ÿöì·îû „þÁ™yöìBþîû ~„þ„þ £œ £yêÅ‹Ð
39. (a) ˜y£z!ÝþÆ„þ xÄy!¢öìvþ ö¢y˜y oî#¦)þ“þ £ëûÐ ˜y£z!ÝþÆ„þ xÄy!¢öìvþîû

¢‚öì„þ“þ HNO3.
40. (d) ¢Á±!“þ ²Ìëûy“þ ²Ì…Äy“þ “þîœy îy”„þ ‹y!„þîû ö£yöì¢˜ 2023

¢yöìœ þ™p!î¦)þ¡ìöì’ ¦)þ!¡ì“þ £öìëû!ŠéœÐ !“þ!˜ 15 !vþöì¢Áºîû

2024 ¢yöìœ 73 îŠéîû îëûöì¢ „þÄy!œöìšþy!˜ëûyîû ¢y˜šÊþy!ª¢öì„þy
Ÿ£öìîû ²Ìëûy“þ £öìœ˜Ð

41. (a) (15 ÷ 3) + 4 = 9
(18 ÷ 6) + 5 = 8
(21 ÷ 7) + ? = 7
? = 7 – 3 = 4

42. (b) Šé!îîû öœy„þ

öœy„þ!Ýþîû öŠéöìœ

ßþf#öìœyöì„þîû ßþºy›# 

˜y
!“

þ

ßþf#öìœy„þ

öœy„þ!Ýþîû
öŠéöìœîû öîy˜

îvþz›y

„þ˜Äy

›y

43. (c) HINDER Ÿ·!Ýþöì“þ H xÇþîû!Ýþ ö”çëûy Ÿöì·îû xÇþîû ˜ëûÐ
44. (a) ²Ìí› öÇþöìe ²Ìí› ö¢öìÝþîû xÇþîû=!œ ßþºy¦þy!î„þe«öì› öœ…y

xyöìŠé !„þlsþ !m“þ#ëû ö¢öìÝþ xÇþîû=!œöì„þ !îþ™îû#“þe«öì› öœ…y
xyöìŠéÐ
BCDE   :   WVUT   :  QRST   :   JIHG

45. (c) ~…yöì̃  ²Ìí› öÇþöìe ²Ìí› ˜Áºîû!Ýþîû ›yöìGþîû ˜Áºîû îy” !”öìëû
“,þ“þ#ëû ˜Áºîû!Ýþ ²Ìíöì› ç öŸöì¡ì ²Ìí› ˜Áºîû!Ýþ öœ…y £öìëûöìŠéÐ
“þy£z !m“þ#ëû öÇþöìeç ~„þ£zîû„þ› £öìî xíÅyê
357 : 73 :: 429 : 94

46. (c) ~…yöì̃  ²Ì!“þ!Ýþ Ÿöì·îû myîûy£z îy¢ßþiy˜ öîyGþyöì̃ y £öìëûöìŠé !„þlsþ
“þyöì”îûöì„þ îvþü öíöì„þ öŠéyöìÝþy !£öì¢öìî ¢y‹yöìœ £öìîéôôôé
Skyscraper  Palace  House  Hut 
Room

47. (b) C

X

O M E

L N V

ßþºy¦þy!î„þ e«öì›

!îþ™îû#“þ e«öì›

M

N

O L L

L O O

ßþºy¦þy!î„þ e«öì›

!îþ™îû#“þ e«öì›

Y

B

48. (b) 1 6 12 19 27 36

5 6 7 8 9

+1 +1 +1 +1
49. (b) ~…yöì̃  ²Ìí› ç “,þ“þ#ëû xÇþîû=!œ þ™îûþ™îû öœ…y xyöìŠé xíÅyê

C J D L : F M G R : : I K J R : O Q P T

50. (d) (3 × 4) + 3 = 15
(7 × 5) + 3 = 38
(3 × 5) + 3 = 18

51. (a) A
52. (c) Šé!î!Ýþöì“þ 3 ~îû ~„þ!Ýþ „þ›˜ þ™!‹Ÿ˜ îûöìëûöìŠéÐ 1 ~îû !îþ™îû#öì“þ

xÄy!‰þ¦þy¢Å



3Achievers

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

6 îûöìëûöìŠé ~î‚ 4 ~îû !îþ™îû#öì“þ 2 îûöìëûöìŠéÐ “þy£öìœ– 5 ~îû
!îþ™îû#öì“þ 3 îûöìëûöìŠéÐ

53. (d) ö„þyöì̃ y!Ýþ£z ˜y
54. (d) xy›îûy ‹y!˜–

 = 11/2 × min ~ 30 × H = 11/2 × 50 ~ 30
× 8 = 275 ~ 240 = 35°

55. (d) öëöì£“%þ ò!îvþüyœó ›•Äþ™”!Ýþ !îî,!“þ=!œöì“þ ~„þîyîûç î!^ùÝþ“þ
£ëû!˜– “þy£z ö„þyöì̃ y !˜’Åyëû„þ !¢kþyhsþ @ùÌ£’ „þîûy ëyöìî ˜yÐ

56. (c) 43 + 3 + 2 = 69
43 + 3 + 3 = 70
43 + 3 + 5 = 72
43 + 3 + 7 = 74
43 + 3 + 11 = 78

57. (d)

A,   B,   B,   D,   C,   F,   D,   H,   E,    J,   F

+2 +2 +2 +2

+1 +1 +1 +1 +1

58. (c)

C 4 X,  F 9 U, I 16 R, L 25 O

–3–3 –3

+3 +3 +3
22 32 42 52

59. (b)
M,  N,  O,  L,  R,  I,  V,   E

+2 +3 +4

–2 –3 –4

60. (d) Smoke ~îû šþöìœ Pollution £ëûÐ
~„þ£z¦þyöìî– War ~îû šþöìœ Destruction £ëûÐ

61. (a) O Q N P R S D E

P O S E

E R T U Y Z S P

T Y P E

62. (a) M
–1

L

I
+1

J

C O A E
–1 –1 –1 –1

B N Z D

R W V
+1 +1 +1

S X W
P

–1
O

O
+1

P

P L R
–1 –1 –1

O K Q

U A
+1 +1

V B

63. (c)

14 !›Ýþyîû

14 !›Ýþyîû14 !›Ýþyîû

10 !›Ýþyîû

A
B

CD

E

AE = (AB + BE) = (14 + 10) = 24 !›Ýþyîû

64. (b) ›!’„þyîû îyîyîû ~„þ›ye ö›öìëû ›!’„þyÐ
¢%“þîûy‚ !îû̃ y £œ ›!’„þyîû ö›öìëû xíÅyê ›!’„þy £œ !îû̃ yîû ›yÐ

65. (a) 22 + 42 = 20
52 + 22 = 29
62 + 32 = 45
~„þ£z¦þyöìî– 72 + 42 = 65

66. (b)

20 !›Ýþyîû

20 !›Ýþyîû

10 !›Ýþyîû

10 !›Ýþyîû C

DE

F

A

B

AF = (AB + BF) = AB + (BF – EF)
= AB + (20 – 10) = 10 + 10 = 20 !›Ýþyîû ”!Çþ’

67. (c) î,öì_îû î¤y!”„þ ç çþ™öìîûîû ¢‚…Äy!Ýþöì„þþ Base •öìîû vþy˜!”„þ ç
˜#öì‰þîû ¢‚…Äy!Ýþöì„þ Power !£öì¢öìî •îûöì“þ £öìîÐ “þyîûþ™îû
!îöìëûy†– öë›˜ 53 – 82 = 125 – 64 = 61
~£z¦þyöìî– 73 – 182 = 343 – 324 = 19

68. (c) A
D

F

B

C

E

69. (d) A
E

F

D

B

C

70. (c) 1Ýþyîû ¢›ëû ‡!vþüîû ‡^ùÝþyîû „¤þyÝþy x!“þe«› „þöìîû 30°Ð
1Ýþyîû ¢›ëû ‡!vþüîû !›!˜öìÝþîû „¤þyÝþy x!“þe«› „þöìîû 0°Ð
¢%“þîûy‚ vþzêþ™§¬ ö„þyöì’îû þ™yíÅ„þÄ 30°Ð

71. (d) A = 
2
5 (B + C)  A : (B + C) = 2 : 5

B = 
3
7 (A + C)  B : (A + C) = 3 : 7

 A ~îû ¦þy† 
2 1050
7

   
 

= 300 Ýþy„þy

B ~îû ¦þy† 
3 1050

10
   
 

= 315 Ýþy„þy

C ~îû ¦þy† = (1050 – 615) = 435 Ýþy„þy
72. (b) 13!Ýþ ¢‚…Äyîû ¢›!ÜT = (68 × 13) = 884

²Ìí› 7!Ýþ ¢‚…Äyîû ¢›!ÜT = (63 × 7) = 441
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

öŸ¡ì 7!Ýþ ¢‚…Äyîû ¢›!ÜT = (70 × 7) = 490
¢®› ¢‚…Äy!Ýþ = (441 + 490) – 884

    = (931 – 884) = 47
73. (c) ›öì̃  „þ!îû– 19“þ› £z!˜‚¢ þ™ëÅhsþ †vþü îûy˜ ¢‚…Äy = x

“þy£öìœ– 18“þ› £z!˜‚¢ þ™ëÅhsþ †vþü îûy˜ ¢‚…Äy = (x – 4)
19x – 18(x – 4) = 98
 x = (98 – 72) = 26
 !˜öì’Åëû †vþü îûy˜ ¢‚…Äy = 26

74. (d) •!îû– 7 îŠéîû xyöì† A ~îû îëû¢ = 4x îŠéîû ~î‚ B ~îû îëû¢
= 5x îŠéîû

7 îŠéîû þ™îû “þyöì”îû îëûöì¢îû x˜%þ™y“þ 
4x 14
5x 14





4x 14 5
5x 14 6


 


 24x + 84 = 25x + 70  x = 14
B ~îû î“Åþ›y˜ îëû¢ = (5x + 7) = (5 × 14 + 7) =
77 îŠéîû

75. (b) •!îû– þ™)’Å ¢‚…Äy!Ýþ = x
“þy£öìœ x ~îû 40% = 178 + 22

40 100x 200 x 200 500
100 40

        
 

¢%“þîûy‚ þ™)’Å ¢‚…Äy!Ýþ = 500
76. (b) •!îû– î†ÅöìÇþöìeîû ²Ìöì“þÄ„þ îyý =10 ö¢!›

“þy£öìœ ~îû öÇþešþœ = (10 × 10) = 100 î†Å ö¢!›
²Ì!“þ!Ýþ ˜“%þ˜ îyý = (10 ö¢!› ~îû 110%)

11010 11
100

    
 

 ö¢!›

öÇþešþœ î,!kþ = (121 – 100)% = 21%
77. (d) ¢!îû“þy ­ ˜#“þy = (50000 × 12) : (80000 × 6)

= 60 : 48 = 5 : 4
ö›yÝþ œy¦þ = 18000 Ýþy„þy

¢!îû“þyîû ¦þy† 
518000 10000
9

    
 

 Ýþy„þy

78. (a) •!îû– îÄ!_«!Ýþ öÝþÆ̃  myîûy ëyëû = x !„þ!›
~î‚ îyöì¢ „þöìîû ëyëû = (285 – x) !„þ!›

²ÌÙÀy˜%¢yöìîû– 285 x x 6
40 85


 

4845 17x 8x 6
680
 



 4845 – 9x = 4080
 9x = 4845 – 4080
 9x = 765
 x = 85
öÝþÆ̃  myîûy x!“þe«› „þîûy ”)îûc 85 !„þ!›Ð

79. (b) A = lb ~î‚  110 90 99A b b
100 100 100
          
   

l l

öÇþešþöìœ £Éy¢ 
99 bb b

100 100
    
 

ll l

öÇþešþöìœ £Éy¢ b 1% 100 % 1%
100 b
     
 

l
l

80. (c) •!îû– þ™yöì„Åþîû ÷”‡ÅÄ = 3x !›Ýþyîû ~î‚ ²Ìßþi = 2x !›Ýþyîû
þ™yöì„Åþîû þ™!îû¢#›y = 2(3x + 2x) = 10x !›Ýþyîû

îÄ!_«îû †!“þ 
5 1012

18 3
    
 

 !›Ýþyîû ²Ì!“þ ö¢öì„þuþ

10 60 200
3

    
 

!›Ýþyîû ²Ì!“þ !›!˜Ýþ

þ™yöì„Åþîû þ™!îû¢#›y = 8 !›!˜öìÝþ x!“þe«yhsþ ”)îûc = (200 ×
8) = 1600 !›Ýþyîû
 10x = 1600  x = 160
¢%“þîûy‚ ÷”‡ÅÄ = (3 × 160) = 480 !›Ýþyîû ~î‚
²Ìßþi = (2 × 160) = 320 !›Ýþyîû
þ™yöì„Åþîû öÇþešþœ = (480 × 320) = 153600 î†Å!›Ýþyîû

81. (b) (2R1 + 2R2) = 35 ...(i)

(2R1 – 2R2) = 22  
22
7 × (2R1 – 2R2) = 22

 (2R1 – 2R2) = 7 ...(ii)
(i) ç (ii) öëy† „þöìîû þ™y£z 4R1 = 42  R1 = 10.5
(i) öíöì„þ (ii) !îöìëûy† „þöìîû þ™y£z 4R2 = 28  R2 = 7
öŠéyÝþ î,öì_îû öÇþešþœ R2)

2 î†Å!›Ýþyîû

22 7 7 154
7

     
 

î†Å!›Ýþyîû

82. (d) ¢y›yhsþ!îûöì„þîû öÇþešþœ = S¦)þ!› × vþzF‰þ“þyV = (18 × 8)
= 144 î†Åöì¢!›

83. (c) „þyöìàþîû Ý%þ„þöìîûyîû xyëû“þ˜ (6 × 9 × 12) = 648 ‡˜öì¢!›
î,£_› ‡˜öì„þîû îyý = {6, 9, 12 ~îû †¢y=} ö¢!› =
3 ö¢!›
‡˜öì„þîû xyëû“þ˜ (3 × 3 × 3) = 27 ‡˜öì¢!›

!˜öì’Åëû ‡˜öì„þîû ¢‚…Äy 
648 24
27

   
 

84. (a) •!îû– ŸB%þ– x•Åöì†yœ„þ ~î‚ ö‰þyöì̂ îû îÄy¢y•Å = r
~î‚ “þyöì”îû vþzF‰þ“þy = h
“þy£öìœ h = r

~öì”îû xyëû“þöì̃ îû x˜%þ™y“þ 2 3 21 2r h : r : r h
3 3

   

3 3 31 2r : r : r 1: 2 :3
3 3

    
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

85. (b) ›%oyîû îÄy¢y•Å = 2 ö¢!›

›%oyîû xyëû“þ˜ 2 150 2
10

  

•!îû– “þyöìîûîû ÷”‡ÅÄ £œ a ö¢!›
21 1a 50 4

10 10
      
 

 a = 50 × 4 × 10 = 2000 ö¢!› = 20 !›Ýþyîû
86. (c) ‡!vþüîû e«ëû›)œÄ = ` 1950 ~î‚ !îe«ëû›)œÄ = 1 îŠéîû þ™îû

²Ìöì”ëû ` 2160 ~îû î“Åþ›y˜ ›)œÄ

= ` 
(100 2160) 100 2160 2000

{100 (8 1)} 108
       

˜†”

 œy¦þ = ` (2000 – 1950) = ` 50
87. (c) BC = CD  BDC = CBD = 25°

BCD ö“þ CBD + BDC + BCD = 180°
 25° + 25° + BCD = 180°  BCD =
130°
~…˜ BAD + BCD = 180°

  [ ABCD ~„þ!Ýþ î,_ßþi ‰þ“%þ¦Å%þ‹]
 BAD + 130° = 180°  BAD = 50°

88. (a) 2007 ¢yöìœ ö„þyÁ™y!˜ F myîûy !˜!›Å“þ £zvþz!˜Ýþ
= (16.1 × 1000) = 16100
2008 ¢yöìœ ö„þyÁ™y!˜ F myîûy !˜!›Å“þ £zvþz!˜Ýþ
= (16.7 × 1000) = 16700

!˜öì’Åëû Ÿ“þ„þîûy î,!kþ 600% 100 %
16100
   
 

   
600 %
161

   
 

 = 3.726%  3.73%
89. (b) 2004 ~î‚ 2007 ¢yöìœ D ö„þyÁ™y!˜ myîûy !˜!›Å“þ †vþü

£zvþz!˜Ýþ

 16.2 15.3 1000 31.5 1000
2 2

  
 

= (15.75 × 1000) = 15750
90. (c) 2009 ¢yöìœ (A + B) myîûy !˜!›Å“þ ö›yÝþ £zvþz!˜Ýþ

= (16.2 + 16.7) × 1000 = 32900
2009 ¢yöìœ (C + D) myîûy !˜!›Å“þ ö›yÝþ £zvþz!˜Ýþ
= (14.9 + 16.3) × 1000 = 31200

!˜öì’Åëû x˜%þ™y“þ 
32900 329 329 : 312
31200 312

  

91. (d) 2005 ¢yöìœ E myîûy !˜!›Å“þ £zvþz!˜Ýþ
= (14.1 × 1000) = 14100
¢›hßþ îŠéöìîû E myîûy !˜!›Å“þ ö›yÝþ £zvþz!˜Ýþ

= (13.9 + 14.1 + 15.4 + 15.7 + 16.4 + 16.6)
× 1000
= (92.1 × 1000) = 92100

!˜öì’Åëû 14100 141% 100 % 100 %
92100 921

         
   

4700 % 15.3% 15%
307

  

92. (c) ¢›hßþ îŠéöìîû C myîûy !˜!›Å“þ ö›yÝþ £zvþz!˜Ýþ
= (11.6 + 12.4 + 12.7 + 12.9 + 13.8 + 14.9)
× 1000
= (78.3 × 1000) = 78300

93. (d) (P + Q) ~îû 20% = (P – Q) ~îû 50%
20 50(P Q) (P Q)

100 100
     

   1 1P Q P Q
5 2

     

 2(P + Q) = 5(P – Q)
 2P + 2Q = 5P – 5Q

P 73P 7Q P : Q 7 :3
Q 3

     

94. (b) B ~îû 10% = G ~îû 
1 10 1B G
4 100 4
   

B G B 10 5 B : G 5: 2
10 4 G 4 2

      

G ~îû 10% = B ~îû 
1
25

B G B 25 5
25 10 G 10 2

    

B : G 5: 2 

95. (c)
 
 

x7 3
7x 3y y
7x 3y x7 3

y

 
   

  
 

 

Sœî ~î‚ £îûöì„þ y !”öìëû ¦þy† „þîûyîû þ™îûV

3 21 337 3 3
33 114 4 4

3 21 9 9 37 3 3
4 4 4

            
         
            
     

 (7x + 3y) : (7x – 3y) = 11 : 3

96. (d) •!îû– þ™y…yîû ²Ì„,þ“þ ›)œÄ = 100 Ýþy„þy
“þy£öìœ •yëÅ›)œÄ = 140 Ýþy„þy
 !îe«ëû›)œÄ = (140 ~îû 85%)
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

85140 119
100

    
 

 Ýþy„þy

œy¦þ = 19%

97. (b)    
 
 
3 2 21 1x 3 2 2

x 3 2 2 3 2 2


    

 

 
   

3 2 2
3 2 2

9 8


  


2

1 1x x 2
xx

           

 3 2 2 3 2 2 2 4     

1x 2
x

    
 

98. (c) •!îû– ¢‚…Äy ”%!Ýþ a ~î‚ b, “þy£öìœ
(a + b) – (a – b) = 42  2b = 42  b = 21
a × b = 1092  a × 21 = 1092

1092a 52
21

  

îvþü ¢‚…Äy!Ýþ = 52

99. (b) ²Ì”_ îûy!Ÿ 
 
 
2 2

3 3

a ab b

a b

 




öë…yöì̃  a = 147 ~î‚ b = 143

   
1 1 1

a b 147 143 4
  

 
100.(c) !˜öì’Åëû ›yþ™

= 120000 ‡˜öì¢!› ~î‚ 56000 ‡˜öì¢!›îû †¢y=
= 8000 ‡˜öì¢!›


